SIS < U O v

S
v
B
T
L
©
M
B
T
Y
/
@
N
D
B
IRS

W
(7
T
E
IS
L
u
@
[
T
S

NEREZ, PLAST HRNEC PRO SPECTRUM AMERLITE (SamLight)

NEREZ
DO BETONU H78210400 Double Wall Gasket
DO FOLIE H78232400 M
Vinyl Liner ‘[h Vinyl Liner %
< f? |11
I [ |
! !
I ! | : o
i |
|
s - ! .
I L 40in.O.D. Max—r ! i :—10 in. 0.D. Max— !
|1 Niche Body | ! Niche Body [ !
I i
! 12 3/16 in. O.D. Max. ! I " 1/? in. 0.D. Max. !
Niche Flange | Niche Flange
PLAST
DO BETONU | .. H79206700
DO PANELOVYCH BAZENU H62-0004
NEREZ PLAST
detail  identifikace popis detail  identifikace popis
Pfiruba Redukce
1 79200100 Liner-sealing ring, American 8 hole 1 619477 1" x 3/4" reducer
PFiruba Adapter
1 79200200 Liner-sealing ring, std. 10 hole 2 619476 45° angle adapter
Tésnéni Prichodka
2 79200300 Gasket, set, American 8 hole pattern 3 619555 Bonding lug kit
Tésnéni X
3 79200700 Gasket, set, std. 10 hole pattern double wall 4 79206500 Large metal insert
Sroub Sroub
4 98202600 Screw, sealing 1/4-20x1-1" 990010 Screw, Bonding 10-24 x 7/16"
Sroub
4 98202700 Screw, sealing 1/4-20x1-1/4"
Sroub
5 98204200 Screw, retainer, filister head, 12-24x3/4"
Zadni pfiruba
6 634595 Back-up ring, std. 10 hole pattern
Sroub
7 98204400 Screw, grounding 10-24x1/2"
79211600 X
Plaster ring, brass
Sada $roubl
79205100 Screw kit, niche, American 8 hole
Sada Sroubli
79205200 Screw kit, niche, American 8 hole, extra long
X
79205300 1" screw kit, std. 10 hole, w/double wall gasket
X
79205400 1 1/4" screw kit, std. 10 hole, w/double wall gas.
X
79226300 1 3/8" screw kit, std. 10 hole, w/double wall gas
79200400 X

gasket, set, std. 10 bole, w/o double wall gasket






